.........

.
s
1/ m
i ﬁ.h_&..x //
/ ;_.___ﬁ_._h”_,._”_ﬂ.x ,,_ /

User's Manual of
RetractableTonneau Cover




Accessories List

YTO01:Drain Tube

YT03:Lock Hook A04:5.5*32 Screw;
YT05:M5 Nut

YT10:Rubber Cover of Track Front End
YT11:Rubber Washer of Drain tube

YT15:Top Cover

YT02:Foaming Adhesive Tape

YTO07:M6*12 Flange Bolt YT08:M6 Washer:
YT09:S=5 Wrench

AN A NN NN NN
LR AR I B R A A

YT12:Washer; YT13:Screw Cap
YT14:M5*7 Screw

YT16:Horizontal Positionig Lever




Accessories List

MARRERRRRLRLLLELENY
ip,;frrs#frﬂ-f'F’“'
LTI LA

WU

YT17:M6 Screw YT18:M6 Nut YT19:Side Track(One Left andOne Right)

YT20:Brackets YT21:M8*40 Track Mounting Kit

YT22:Screw Washer YT23:M8*50 Screw

YT24:Hose Clamps of Drain Tubes YT25:Lubricant




Vertical direciton Horizontal direction

Installation in horizontal to
avoid issue

Put In Horizontal




Installation

@MFixing the horizontal guide rail;
@Install the rubber cover of the front end of
the Side Track(YT10)

Find the two screw holes in the red
circle and tighten the screws(YT07,08)

Keep Vertical direciton

o L

If the truck sides are not at the same height
with the middle,then paste the Foaming

Adhesive Tape in the middle (YT02)

Install the Top Cover,and fixed with
screws and screw cap (YT12, 13,14,15)




Installation

e
e

HINE. (I T

1
I |
)
i
|
|
1
¥
— e — = -

o

-

Fo
r':"j ‘:- 4 L) 1 1 L L] ds¥
S L \ L) .ni-'-l-.
- e =="
] 3 1 ¢ - -.-I |: I
3 i " ':'L g ..'-r - . _I:. ik - i | 3

- & #
L
= g L W g A gd Wi y 'y d Y

Two persons put roller in horizontal together; Silicon sealant can be used here according to
Use screws(YT07,08) customer requirements,the length is 140mm

%

Find the gap on the side rail and put the Adjust the roller to the right position and
T-bolt into the guide rail (YT18) cover the tailgate part at lest 20mm

D AV ATIRAE 4

Use the Horizontal
Positioning Lever
to support the inside of
theslidetracktoensure
thetwosidesareparallel




Installation

Install the leveling bolt and washer (YT122,23)
Install the brackets (YT21,18) This bolt will share some of the force
generated by the tilt of the bracket.

Install the rear drain tube and lock it with Install the front drain tube and lock it with
hose clamps (YT01,24) hose clamps (YT01,24)

@ Pull the tonneau
cover backward

-

The nght way

~ @ Push the button

11 b

[

If the tailgate does not have self-locking
function,a lock hook should be installed at
the corresponding position of the roller lock.

Pull back first and then press the lock to
open the roller.Good usage habits can
extend product life.

The position of the lock block to the door
is 13mm(YTO03,04)




Installation

Please open slowly.

Silicone
oll

Every 3 months to clean and lubricate
the track rubber strip

Every 6 months to clean and lubricate
the canister

Please drill holes on the truck for installing

heavy loading equipment. Keep the drainpipe free from blockage.



